Mud Guards assembly Pro Belt Drive 8 " wheels Tﬂnmpn

@ M4 x 16 countersunk torx @ Carbon Panel
@ M4 Nylock nut + washer @ M4 x 35 countersunk torx 6
@ Mounting Bracket @ M4 x 10 countersunk torx 6

@ Fender spacer

6 Use blue Loctite on this screw




